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SBI PO Prelims Memory Based Mock 2017 : 13-Nov-2021 (Solutions) 
 

S1. Ans.(c) 

Sol. 

 
 

S2. Ans.(d) 

Sol.  

 
 

S3. Ans.(c)  

Sol.  

 
 

S4. Ans.(e)  

Sol.  

 
 

S5. Ans.(d)  

Sol.  

 
 

S6. Ans.(e)  

Sol.  

 
 

S7. Ans.(c)  
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S8. Ans.(d) 
Sol. Q>P>S>T>U>R 
 
S9. Ans.(c) 
Sol. Q>P>S>T>U>R 
 
S10. Ans.(d) 
Sol. I. L = R (False)  
II. L >R(False) 
 
S11. Ans.(c) 
Sol. I. D < R(False)  
II. E > P (True) 
 
S12. Ans.(e) 
Sol. I. S > K (True)       
II. F >B (True) 
 
S13. Ans.(e) 
 
S14. Ans.(d) 
Sol. 

 
 
S15. Ans.(d)  
Sol. 
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S16. Ans.(a)  

Sol. 

 
 

S17. Ans.(d)  

Sol. 

 
 

S18. Ans.(c)  

Sol. 
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S19. Ans.(d)  
Sol. 

 
 
S20. Ans.(a)  
Sol. 

 
 
S21. Ans.(b)  
Sol. 

 
 
S22. Ans.(a) 
Sol. 

 
 
S23. Ans.(d)  
Sol. 
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S24. Ans.(e) 
Sol. 

 
 
S25. Ans.(d) 
Sol. 

 
 
S26. Ans.(d) 
Sol. 

 
 
S27. Ans.(c) 
 
S28. Ans.(d) 
Sol. 
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S29. Ans.(e) 

 

S30. Ans.(d)  

Sol. 

 

 

S31. Ans.(e) 

Sol. 

 

 

S32. Ans.(e) 

Sol. 
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S33. Ans.(e) 
Sol. 

 
 
S34. Ans.(d) 
Sol. 

 
 
S35. Ans.(d) 
Sol. 

 
 
S36. Ans.(b) 
Sol. 
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S37. Ans.(a) 
Sol. Investment = 4x :6x :7x  
After 4 months  
According to question 
7x=6x+x  
So, C’s initial investment = 7x which may happen only if A withdraws 75% of his investment. 
Hence, new ratio of investment = x :6x :7x  
= 1 : 6 : 7 for rest of months  
⇒ Hence final investment ratio will be 2 : 6 : 7 [first 4 months investment + Last 8 months investment] 
7 → 4200  

∴ Annual profit’ll be  

 
S38. Ans.(d) 
Sol. 

 
 
S39. Ans.(c) 
Sol. 

 
 
S40. Ans.(b) 
Sol. 
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S41. Ans.(a) 
Sol. 

 
 
S42. Ans.(b) 
Sol. 

 
 
S43. Ans.(a) 
Sol. 

 
 
S44. Ans.(c) 
Sol. 
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S45. Ans.(e) 

Sol. 

 
 

S46. Ans.(a) 

Sol. 

 
 

S47. Ans.(e) 

Sol. Top three populous cities = E, C and D 

Total population in C, D and E = 200000 

Total men in those cities = 39000 + 27000 + 37500 

= 103500 

Difference = 200000 – 103500 = 96500 

 

S48. Ans.(b) 

Sol. 

 
 

S49. Ans.(a) 

Sol. 

 
 

S50. Ans.(c) 

Sol. Two-third of total women population  

= 2/3 (45370+26000+33000+37500) 

=2/3 (141870)=94580  
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S51. Ans.(c) 

Sol. 

 
 

S52. Ans.(a) 

Sol.  

 
 

S53. Ans.(c) 

Sol. 

 
 

S54. Ans.(a) 

Sol. Total desired sum = (320 + 400) + (400 + 440) 

= 1560  

 

S55. Ans.(d) 

Sol. 

 
 

S56. Ans.(b) 

Sol. 

 
 

S57. Ans.(a) 

Sol. 
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S58. Ans.(c) 

Sol. 

 
 

S59. Ans.(b) 

Sol. 

 
 

S60. Ans.(e) 

Sol. 

 
 

S61. Ans.(b) 

Sol.  

 
 

S62. Ans.(a) 

Sol. 

 
 

S63. Ans.(c) 

Sol. 

 
 

S64. Ans.(a) 

Sol. 
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S65. Ans.(d) 

Sol. 

 

 

S66. Ans.(a) 

Sol. 

 

 

S67. Ans.(a) 

Sol.  
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S68. Ans.(a) 

Sol. 

 
 

S69. Ans.(e) 

Sol. 

 
 

S70. Ans.(e) 

Sol. 

 
 

S71. Ans.(c) 

Sol. Here the title “Divided we stand” is more potent. As mentioned in the passage, Dr. Franz’s 

multicompiler trades a bit for diversity in the code to secure the software from being hacked.  

 

S72. Ans.(b) 

Sol. Here the author’s tone is impersonal as he is concerned about computer’s security. 

 

S73. Ans.(b) 

Sol. Refer to the second last line of last paragraph, “This leeway …………… of the original program.” 

 

S74. Ans.(d) 

Sol. Refer to the second line of first paragraph, “Minor variations aside, every copy of these products—

like all other mass-market software—has exactly the same bits in it. This makes such software a 

honeypot for hackers.” 

 

S75. Ans.(a) 

Sol. Refer to the last paragraph, “Dr Franz’s “multicompiler” trades a bit of this optimality for diversity 

in the compiled code. This leeway, which diminishes the code’s speed of execution by an amount 

imperceptible to the user, enables a multicompiler to create billions of different, but functionally 

identical, interpretations of the original program.” Hence only option (a) is incorrect in context of the 

passage. 
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S76. Ans.(c) 

Sol. Refer to the last sentence of second last paragraph, “Some mass-market software companies have 

instead introduced modest diversity to deter attackers, such as randomly choosing the starting 

addresses of big blocks of memory, but this is not enough to defeat a determined hacker”. 

Refer to the last sentence of the second paragraph, “Symantec, one of the commercial pioneers of online 

security, estimates that antivirus software now stops only 45% of attacks. The firm recently declared 

that this approach was “dead” and a new one was needed.” Hence both statements (i) and (ii) are 

correct in context of the passage.  

 

S77. Ans.(a) 

Sol. Hone means sharpen or refine. Hence it has opposite meaning to ‘wreck’. 

 

S78. Ans.(a) 

Sol. Onslaught means a destructive attack. Hence it has opposite meaning to ‘defense’.  

 

S79. Ans.(b) 

Sol. Bane means a cause of great distress. Hence it has same meaning as scourge.  

 

S80. Ans.(d) 

Sol. Nigh means near. Hence it has same meaning to nearly. 

 

S81. Ans.(e) 

Sol. ‘Keep off’ means to avoid encroaching on or touching hence option (e) is the correct choice for the 

given question. 

 

S82. Ans.(d) 

Sol. ‘Give in’ means to cease fighting or arguing; admit defeat therefore it is most appropriate in context 

of the sentence and is the correct choice for the given question. 

 

S83. Ans.(e) 

Sol. There is no error in the statement as ‘called forth’ means to cause (something) to come into action 

or existence. 

 

S84. Ans.(a) 

Sol. Disappointed ‘at’ is the correct usage here. 

 

S85. Ans.(c) 

Sol. 'get on with' means to continue or resume doing (something); make progress regarding hence 

option (c) is the correct choice for the given question. 
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S86. Ans.(d) 

Sol. ‘Catch up with’ is the correct usage as it means succeed in reaching a person who is ahead of one. 

It is also the most appropriate option if you consider the context of the sentence hence option (d) is the 

correct choice for the given question. 

 

S87. Ans.(b) 

Sol. ‘look out for’ means be vigilant and take notice hence option (b) is the correct choice for the given 

question as other options change the meaning of the sentence. 

 

S88. Ans.(c) 

Sol. ‘Talk back’ means reply defiantly or insolently hence option (c) is the correct choice for the given 

question. 

 

S89. Ans.(d) 

Sol. The use of ‘further’ which means additional to what already exists or has already taken place, been 

done, or been accounted for is correct and the first form of ‘take’ should be used therefore option (d) is 

the correct choice for the given question. 

 

S90. Ans.(a) 

Sol. ‘Think back on’ means to recall and is the most appropriate choice for the given question. 

 

S91. Ans.(c) 

 

S92. Ans.(b) 

 

S93. Ans.(a) 

 

S94. Ans.(e) 

 

S95. Ans.(d) 

 

S96. Ans.(c) 

 

S97. Ans.(e) 

Sol. No correction is required 

 

S98. Ans.(a) 

 

S99. Ans.(d) 

 

S100. Ans.(b) 
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